EUROPEAN KANGOUROU MATHEMATICS LEVELS 3-4

20). Camilla wrote all positive integers from 1 to 100 in sequence into a 6| 71 81 91 10
chart with 5 columns. There is a part of the chart on the picture to the
right. Her brother has cut a part of the table and then he erased some 111 12| 13| 14| 15
numbers. Which picture represents part of the incomplete chart?

16| 17| 18| 19| 20

43 58 69 81 90
48 52 72 86 04

A) B) C) D) E)

21. The library of the school that Ana, Bea and Carlos attend has a large number of books. “There are
approximately 2010 books” says the teacher and invites the three students to guess the exact number. Ana
guesses 2010, Bea guesses 1998 and Carlos guesses 2015. The teacher says that the difference between the

numbers they guessed and the exact value are 12, 7 and 5 but not in this same order. How many books are there
in the library?

A) 2003 B) 2005 C) 2008 D) 2020 E) 2022

e

22. Some segments are numbered 1, 2, ..., 8 as shown in the picture.
Anne cuts along four of them, in order to bend and form the figure below.
What is the sum of the numbers of the segments that Anne has cut?

/[

A) 16 B) 17 C) 18 D) 20 E) 21
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23. Andrew, Stefan, Robert and Marko met at a concert in Zagreb. They came from different cities: Paris,
Dubrovnik, Rome and Berlin. This is the following information about these people:

* Andrew and the boy from Berlin arrived in Zagreb early in the morning on the day of the concert. Neither of
them has ever been to Paris or Rome.

* Robert is not from Berlin, but he arrived in Zagreb at the same time as the boy from Paris.

* Marko and the boy from Paris liked the concert very much.

Where did Marko come from?

A) Paris B) Rome C) Dubrovnik D) Berlin E) Zagreb

24. Each of Basil’s friends added the number of the day and the number of the month of his birthday and
obtained 35. Their birthdays are all different. What is the maximum possible number of Basil’s friends?

A)7 B) 8 C)9 D) 10 E) 12
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3 point

1) Basil wants to paint the word KANGAROO. He paints one letter each day. He starts on Wednesday. On
what day will he paint the last letter?

(A) Monday (B) Tuesday (C) Wednesday

(D) Thursday (E) Friday

2) A caveman wants to balance two set of stones. Which stone should he put on the right side to have
both sides equally heavy?

20kgf17 kg

3)

A toy is in a square as seen on the picture.

A child moves the toy from one square to the next. He uses the following order first to the right, then
upwards, then to the left, then downwards, and then to the right. Which of the following pictures shows
where the toy will be at the end?

(4) (B) ©) (D) pa (E)

4) Simon got up one hour and a half ago. In three hours and a half, he will take the train to
grandmother's. How long before the train departure did he get up?

(A) 2 hours (B) 3 hoursand a half  (C) 4 hours (D) 4 hours and a half (E) 5 hours
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5) Maria described one of the five figures below in the following way. It is not a square. It's grey. It's
either round or triangular. Which figure did she describe?

(A)A (B)B c (D)D (E)E
6) Lenka paid 1 euro and 50 cents for three scoops of ice-cream. Miso paid 2 euros and 40 cents for two
cakes. How much did Igor pay for one scoop of ice-cream and one cake?

(A) 1 €70 cents (B) 1 €90 cents (C) 2€ 20 cents (D) 2 €70 cents (E) 3€90 cents

7) A tower clock strikes on the hour (that is at 8:00, 9:00, 10:00) as many times as the hour. It strikes also
once when it is half past an hour (that is at 8:30, 9:30, 10:30). How many times did the clock strike from
7.55t0 10.45?

(A) 6 times (B) 18 times (C) 27 times (D) 30 times (E) 33 times

(@A) ®) Q-+ (D) (E)

8) Which figure has the largest area?

4 point
9) The poulterer has boxes of 6 eggs and boxes of 12 eggs. What is the least amount of boxes he
needs to store 66 eggs?

(A) 5 (B) 6 ()9 (D) 11 (E) 13
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10) In a school class all pupils have at least one pet and at most two pets. The pupils have recorded how
many pets they have all together.

Among the pupils two have both a dog and a fish. Three of the pupils have both a cat and a dog. No other
pupils have two pets. How many pupils are there in this class?

i i i i ! i e w
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(A) 11 (B) 12 (C) 13 (D) 14 (E) 17

11) There are 13 coins in John’s pocket, each of them is either 5 or 10 cents. Which value cannot be the
total value of John's coins?

(A) 80 (B) 60 (C) 70 (D) 115 (E) 125

12) The sheet is folded along the thick line. Which letter will not be covered by a gray square?

(A)A (B)B @©c (D)D (E)E

13) Ann, Bob, Cleo, Dido, Eef, and Fer each roll a die. They all get different numbers.
The number Ann rolled is twice as much as Bob's.

The number Ann rolled is three times as much as Cleo's.

The number Dido rolled is four times as much as Eef's.

What number did Fer roll?

(A)2 (B)3 (€4 (D)5 (E)6
14) In a quiz show there are the following rules: every participant has 10 points at the beginning and has
to answer 10 questions. For a correct answer 1 point is added and for an incorrect answer 1 point is taken

away. Mrs. Smith had 14 points at the end of this quiz show. How many incorrect answers did she give?

(A)7 (B) 4 ©5 (D)3 (E)6

4 | THALES FOUNDATION



MATHEMATICS
EUROPEAN KANGOUROU 2010-2011

15) At each square of the magic maze there is a piece of cheese. Mouse Ron wants to enter and go out
taking as many pieces of cheese as he can. He cannot step on any square twice. What is the largest
number of pieces of cheese he can get?
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(A) 17 (B) 33 (C) 37 (D) 41 (E) 49

CORORO O O
CO O O OfO

16) During a party each of two identical cakes was divided into four equal pieces. Then each of these
pieces was divided into three equal pieces. After that each of the participants of this party got such a
piece of cake and three more pieces were left. How many people were at this party?

(A) 24 (B) 21 (C) 18 (D) 27 (E) 13

5 point

17) Four girlfriends Masha, Sasha, Dasha and Pasha sit on a bench.

First Masha exchanged places with Dasha.

Then Dasha exchanged places with Pasha.
At the end the girls sat on the bench in the following order from left to right: Masha, Sasha, Dasha,
Pasha. In what order from left to right did they sit in the beginning?

(A) Masha, Sasha, (B) Masha, Dasha, (C) Dasha, Sasha, (D) Sasha, Masha, (E) Pasha, Masha,
Dasha, Pasha Pasha, Sasha Pasha, Masha Dasha, Pasha Sasha, Dasha

18) How many times a day a digital watch with four digits shows the same digit in the four positions ? In
the picture there is an example of a digital watch with two different digits.

15:51

(A) 1 (B) 24 €3 (D) 5 (E) 12
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19) Four identical dice have been arranged in a structure as shown in the figure. The sum of points(dots)
on any two opposite sides is equal to 7. How does this structure look like from behind?

(A) (B) © (D) (E)

20) You have three cards as shown in the figure. You can form different numbers with them, for example
989 or 986.

How many different 3 digit numbers can you form with these three cards?

(A) 4 (B) 6 )8 (D)9 (E) 12

21) Andra formed the ornament in the picture by using pieces of one single shape several times.

The pieces cannot cover each other. Which of the following pieces cannot be used by Andra to create the

ornament?
2 }
(B) ®
(9]
(D) Rﬁf&

(A)
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22) In picture 1 there is a castle built of cubes. When you look at the same castle from above it looks like
in the picture 2. How many cubes were used to build the castle?

Picture 1 Picture 2
(A) 56 (B) 60 (C) 64 (D) 68 (E) 72
23) John wrote 6, 7 and 8 in the circles as shown in the following picture. He will then write each of the

numbers 1, 2, 3,4 and 5 in the circles so that the sum of the numbers in each of the sides of the square is
equal to 13. What will be the sum of the numbers in the shaded circles?

(A) 12 (B) 13 (C) 14 (D) 15 (E) 16

24) Sylvia drew figures with hexagons like in the picture. How many hexagons will the fifth figure
contain, if she continues with this pattern?

VN
N N
(A) 37 (B) 49 (C)57 (D) 61 (E) 64
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1. O BaoiAng 6éAel va ypdawel Tn AéEn MATHEMATICS o¢ éva kopudr xapTi. OéAel Ta
BIAPOPETIKA YPAMMATA VO Eival HE SIAPOPETIKO XpWHO Kol Ta ISl ypdupoTa HE TO iSlo

Xpwua. Méoca xpwuara Ba XpelaoTEi;

Basil wants to write the word MATHEMATICS on a sheet of paper. He wants different
letters to be coloured differently, and the same letters to be coloured identically. How
many colours will he need?

A7 B) 8 C)9 D) 10 E) 13

2, Xe& TEOOEPEIG ATTO TIG TTEVTE IO KATW EIKOVEG TO doTrpo ePRado gival ioco pe 1o ykpido

eMBadO. Ze oia eIk6va 1o dopo gupado AEN EINAI IZO pe 1o ykpilo eufado;

In four of the five pictures the white area is equal to the grey area. In which picture are the
white area and the grey area different?

S 4N

3. O marépag amrAWVEl TNV JTTOUYAda oTo oxolvi. OEAel va XpNnoIMOTTOINoEl 0G0 o Aiya
pavtaAdkia yiveral. Mo 3 retoéteg Xperdderal 4 pavTaAdkia, OTTWG QAIVETAI OTNV EIKOVA.

Néoa pavraAdkia 8a XpeINOTE YIO 9 TTETOETEG;

Father hangs the laundry outside on a clothesline. He wants to use as few pegs as
possible. For 3 towels he needs 4 pegs, as shown. How many pegs does he need for 9

towels?

A)8 B) 10 C)12 D) 14 E) 16
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ABCD
1
9
3
4. H Aila xpwpartilel Ta TeTpdywva A2, B1, B2, B3, B4, C3, D3, kai D44 . Noio
a1roé T O KATW oXAHaTa 8a dnuioupynOei;
ABCD
1
9
3
lizo colours the squares A2, B1, B2, B3, B4, C3, D3 and D4. 4 Which
colouring does he get?
ABCD ABCD ABCD ABCD ABCD
1 1 1 | 1
2 2 2 2 2
3 3 3 3 3
A B) ! c) ! D) ! E)

5. 13 raudia maifouv kpu@To. ‘Eva aidi @uAdel kai o1 utréAoiro kpuBovTal. MeTd atréd
Aiyo Bpiokel Ta 9 Traudid. Moéca Taidid KpUBOVTAl AKOUA;

13 children are playing hide and seek. One of them is the “seeker”. After a while 9
children have been found. How many children are still hiding?

A)3 B) 4 C)5 D)9 E) 22

6. O MixdAng kai o Navvng maifouv BeAdkia. O kaBévag pixvel 3 BeAdkia (6TTWG @aiveTal

oTnV €Ik6va). Molog viknoe Kal P TTO00UG TTEPICOOTEPOUG TTOVTOUG KEPDIOE?

MixdAng Mavvng

A) O MixdAng, képdioe 3 TrepioooTEPOUG TTOVTOUG  B) O MNdvvng, kEPBIoE 4 TTEPICCOTEPOUG TTOVTOUG
C) O MixdAng, képdiae 2 reploodTepoUg TTOVTouG D) O TMidvvng, képdioe 2 TTEPIOCTOTEPOUG TTOVTOUG
E) O MixdAng, k€pdioe 4 TTEPICOOTEPOUG TTOVTOUG
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Mike and Jake were playing darts. Each one threw three darts (see the picture). Who won
and how many more points did he score?

Mike Jake
A) Mike, he scored 3 points more B) Jake, he scored 4 points more
C) Mike, he scored 2 points more D) Jake, he scored 2 points more

E) Mike, he scored 4 points more

7. 'Eva Kavoviko opBoywvio oxAua o€ évav Toixo dnuioupyndnke amod 2 e1dwv TTAAKAKIA:
Ta YKPia kal Ta piyé. Kdtrola TTAakdKIa £X0UV TTETEl A1TO TOV TOiXO (OTTWG PaiveTal OTO
oxAua). Néoa ykpila TAakdKIa £XOUV TTECEI KATW;

A regular rectangular pattern on a wall was created with 2 kinds of tiles: grey and striped.

Some tiles have fallen off the wall (see the picture). How many grey tiles have fallen off?

A) 9 B) 8 C)7 D) 6 E)5

8. To 2012 ival SioekTo £T0G, AUTO aNnUaAivel 6TI o pRvag PeBpoudplog £xel 29 PHEPEGS. ZTIG
15 MapTiou Ta TTATTAKIQ TOU TTATTTTOU pou €yivav 20 nuepwv. MoéTe ByAkav amrod 1o auyo;
A) o1ig 19 deBpouapiou  B) oTig 21 PeBpouapiou C) oTig 23 deBpouapiou

D) oTig 24 ®eBpouapiou  E) oTig 26 PeBpouapiou

The year 2012 is a leap year that means there are 29 days in February. On the 15" March
2012, the ducklings of my grandfather were 20 days old. When did they hatch from their
eggs?

A) on 19" of February B) on 21 of February C) on the 23" of February
D) on the 24" of February E) on the 26" of February
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9. 'Exeig ToAAd ToUBAa o€ popen L, To kKaBéva atrd autd arroteAgital amd 4 TeTpdywva

OTTwWG QaiveTal oTO OXAHA:

L

Néoca atrd Ta o KATW OXAMATA JTTopoUV va Snuioupyndouv 6Tav KoAAfooupe dUo TéTola

TOURBAC.

A) 0O B) 1 C)2 D)3 E) 4

You have L-shaped tiles, each consisting of 4 squares as shown: ‘ |

How many of the following shapes can you make by glueing
together two of these tiles?
A)0O B) 1 C)2 D)3 E) 4

10. Tpia praAovia kooTiouv 12 gevig TTEPICCOTEPA ATTO éva MTTaAovI. Méoa oTolyidel éva
MTTOaAGVI;

Three balloons cost 12 cents more than one balloon. How much does one balloon cost?
A) 4 B) 6 C)8 D) 10 E) 12

11.H yiayid é@riage 20 pmmIoKOTA yia Ta €yyovia Tng. Ta SIaKOOUNOE PE OTAQIdEG Kal
apOydala. NMpwTta dlak6oPNCEe Ta 15 PITIOKOTA ME OTAWIBEG Kol PETA Ta 15 pe aplydala.
ToUuAdxIOTO TTOCA MTTICKOTA SIOKOOMNOE KAl ME OTAQPISEG KAl pE apUydaAa;

Grandmother made 20 gingerbread biscuits for her grandchildren. She decorated them
with raisins and nuts. First she decorated 15 biscuits with raisins and then 15 biscuits
with nuts. At least how many biscuits were decorated both with raisins and nuts?

A) 4 B) 5 C)6 D) 8 E) 10

12.Z¢ éva “sudoku” o1 apiOuoi 1, 2, 3, 4 yTTopoUV va UTTAPXOUV MOVO Hia @opd o€ KAOE
OTAAN Kal 0€ KABE ypapur. ZT0 10 KATW padnuaTtiké “sudoku” o MéTpog mpwTa ypdpel Ta

amoteAéopata Twv TPafewv. MeTd cuptrAnpwvel 1o “sudoku”.

Moi6v apiBuod Ba BaAel o MéTpog oTO YKPIJo TETPAYWVO;
1 x1 1 x3

A) 1 B) 2 C)3
2%x2/6-3 6—5

D) 4 E)1n2

9-712-1
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In a Sudoku the numbers 1, 2, 3, 4 can occur only once in each column and in each row. In
the mathematical Sudoku below Patrick first writes in the results of the calculations. Then

he completes the Sudoku.

Which number will Patrick put in the grey cell?
1 x1 I x3

A)1 B) 2 C)3
2x2(6-3 6—5

D) 4 E)1or2
—1114+3|8-7

9-712-1

13.Avdpeca oToug ocuppadnTég Tou NikOAa utrdpxel SITTAACI0G apIOUOG KOPITOIWY ATTO T
ayopla. Moiog amré Toug o KATW apIBHOUG YTTopEi va gival iocog HE Tov apifud AWV Twv
TAISIWV TNG TAENG;

Among Nikolay’s classmates there are twice as many girls as boys. Which of the
following numbers can be equal to the number of all children in the class?

A) 30 B) 20 C)24 D) 25 E) 29

14.Z10 ZXOAgio Twv Zwwyv, 3 yartdkia, 4 TATTAKIA, 2 XNVAKIO KOl APKETA ApPVAKIO KAVOUV
padbnua. H daokdAa KoukouBdyla BpRke 6T 6Aol ol paBnTég Tng padi éxouv 44 TodIa.
Néoca apvdkia UTTdpXouv oTo ZXOAEio;

In the animal’s school, 3 kittens, 4 ducklings, 2 goslings and several lambs are taking
lessons. The teacher owl found out that all of her pupils have 44 legs altogether. How
many lambs are among them?

A) 6 B) 5 C)4 D)3 E) 2

15. 'Evag KUBoG gival @TIOYUEVOG ATTO TECTEPA KOPMATIA, OTTWG QaiveTal OTO oXAMA. KdBe
KOMMATI OTTOTEAEITE ATTO TETOEPA TTI0 MIKPA KOMMATIO TTOU £X0OUV TO idlo XpwHa. Moio givail
TO OXHO TOU GOTTPOU KOUHATIOU;

A cuboid is made of four pieces, as shown. Each piece consists of four cubes and is a

single colour. What is the shape of the white piece?
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16.Ze éva XpIOTOUYEVVIATIKO TTAPTI UTTAPXE OKPIBWGS éva KNPOTTHYIO o€ KAOe éva atmrd Ta 15
TPatédia. YmRpxav 6 knpotriyla pe 5 8€oeig yia Kepid Kal Ta utréAoitra gixav 3 0éo€ig yia
Kepld. Mooa kepId TTPETTEI VA aYOPAOOUHE YiO Va YENiICOUPE OAd TO KNPOTTRYIA;

At a Christmas party there was exactly one candlestick on each of the 15 tables. There
were 6 five-branched candlesticks, the rest of them were three-branched ones. How many
candles had to be bought for all the candlesticks?

A) 45 B) 50 C) 57 D) 60 E) 75

17.Mia akpida B€Ael va avéBel pia okdAa pe TToAAd okaAid. H akpida ptropei va kdvel pévo
500 S10@opeTIKA dApaTa: 3 oKOAOTTATIA TTAVW /| 4 OKAAOTTATIO KATW. SEKIVWVTAG OTTé TO
£50Q0G, TOUAAXIOTOV TTOOO GAMOTO TPETTEl VO KAvEl £TC1 WOTE va @Tdoel oto 22°
OKOAOTTATI KOI VO EEKOUPOOTEI;

A grasshopper wants to climb a staircase with many steps. She makes only two different
jumps: 3 steps up or 4 steps down. Beginning at the ground level, at least how many

jumps will she have to make in order to take a rest on the 22" step?

M 1° okahomdm

£8adocg-ground

A)7 B) 9 C) 10 D) 12 E) 15
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18.0 DiAimrrog @TIAxVel éva @IBdKI ue domino(vTopivo) Je emTd midvia. Badel To éva movi
META TO AAAO £€TO1 WOTE iB10G APIBPOG KOUKKIBWY oTa TIdvia va ayyi{ovral HETASU TOUG.
Kavovikd 1o @18dki Trpétrel va éxel 33 KOUKKiSeg. AAAG o0 adeA@pdg Tou o Mwpyog hHpe dUo
moévia amd 1o @IdAKI (OTTWG @aiveTal oTNV £IkOva). NMooeg KOUKKiIdEG ATaV OTNV Bé0N TOU
EPWTNUATIKOU ? ;

Frank made a domino snake of seven tiles. He puts the tiles next to eacg other so that the
sides with the same number of dots were touching. Originally the snake has 33 dots on its
back. However his brother George took away two tiles from the snake (see the picture).

How many dots were in the place with the question mark?

ol | ] e
., 0 ) I L
.
'y
.
" E io.o .
{ le ele o
A) 2 B) 3 C)4 D)5 E) 6

19.0 Mpnyopng oxnuatifel 0o apiBuoug pe Ta wneia 1, 2, 3, 4, 5, kai 6. Kai o1 0o apibuoi
€xouv Tpia yneia. Kabe yneio ptropei va xpnoipotroindei povo pia gopd. Merd rpoodétel
TOUg dU0 apIBuoug TTou é@Tiage. Molo gival To HeyaAUTEPO GBPOICHA TTOU MTTOPEI VA TTAPEI
o Mpnyoépng amré Tnv mpodécleon;

Gregor forms two numbers with the digits 1, 2, 3, 4, 5 and 6. Both numbers have three
digits. Each digit is used only once. He adds these two numbers. What is the greatest sum
Gregor can get?

A) 975 B) 999 C) 1083 D) 1173 E) 1221

20.H Avva, o lMNdvvng, n ‘EAeva ka1 n Karepiva 8éAouv va BydAouv pia wTtoypagia 6Aeg
Hadi. H Kartepiva kal n Avva €ival ol KaAUTepeg @ileg kal BéAouv va oTaBouv n pia ditrAa
oTtnv aAAn. O lNadavvng BéAel va oTaBei SitrAa amrd Tnv Avva emeldn Tou apéoel. Mg méooug
B10¢QOPETIKOUG TPOTTOUG UTTOPOUV va oTabouv yia va BydAouv Tn @wToypagia;

Anna, John, Helena and Kate want to be in one photo together. Kate and Anna are best
friends and they want to stand next to each other. John wants to stand next to Anna
because he likes her. In how many possible ways can they stand for the photo?

A)3 B) 4 C)5 D) 6 E)7
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21.'Eva €181k6 poAdI €xel 3 SeikTeg PE BIAPOPETIKO PAKOG (évav yia TIG WPEG, Evav yla Td
AETTTd Kal évav yia Ta SeutepOAeTTTa). Agv yvwpifoupe Toiog SeikTng eival o106, aAAd

yvwpidoupe 611 n wpa TTou deiXvel To poAdI ival cwoTh. ETig 12:55:30 p.y. o1 SeikTeg gixav

Tn 6€0n TTOU QaiVETAl OTNV EIKOVA

(TNTH

. Mwg Ba gival To poAdl n wpa 8:11:00

A special clock has 3 hands of different length (for hours, for minutes, and for seconds).

We do not know which hand is which, but we know that the clock runs correctly. At

12:55:30pm the hands were in position depicted here
look like at 8:11:00pm?

22.0 MixdAng S1aAege éva BeTIKO apIBUO Kal TOV TTOAAATTAACIOCE PE TOV €0UTO TOU. XTN
guvéxela mpooBeoe 1 kal TToAAatrAaciace 1o ammoréAeopa pe 1o 10, TPdoBeoe 3 kal
moAAatrAaciaoe To amoTéAeopa pe 4. To TeAIké ammoTéAeopa Tou TTAPE ATav 2012. Moidv
ap1Buo cixe diaAé€er oTnv apxn o MixdAng;

Michael chose some positive number, multiplied it by itself, added 1, multiplied the result
by 10, added 3, and multiplied the result by 4. His final answer was 2012. What number did
Michael chose at the beginning?

A) 11 B) 9 C)8 D)7 E)5
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23."Eva opBoywvio xapti éxel diaordoeig 192 X 84 mm. KéBoupe 10 XapTi 0 pia gubeia
YPOMMR €TO1I WOTE va TTApoupe U0 MéPn KAl TO éva amd autd va gival TETPAYwVO.
Kdvoupe 10 id10 Je TO KOPMATI TTOU Bev gival TETPAywvo Kal ouvexifoupe To id1o. Moio eival
TO MAKOG TNG TTAEUPAG TOU MIKPOTEPOU TETPOYWVOU Trou Ba TTApoupe amd auth Th
Sladikaoia;

A rectangular paper sheet measures 192 x 84 mm. You cut the sheet along just one
straight line to get two parts, one of which is a square. Then you do the same with the
non-square part of the sheet, and so on. What is the length of the side of the smallest
square you can get with this procedure?

A) 1mm B) 4mm C) 6mm D) 10mm E) 12mm

24.%¢ €va aixvidl Todoo@aipou o viknTAg kepdidel 3 Babuolg, evw o xauévog 0 Babuoug.
Edv 1o mTauyvidi £€pBei 1IcoTTalia, TOTE Kol o1 U0 opddeg kepdiouv 1 Babuoé n kabepid. Mia
opdda Trou éxel mai§el 38 maixvidia éxel kepdioel 80 BabuoUg. Bpeite To péyioTo mMBAVO
apIBuo TTaIXVISIWY TTOU £X00€E OUTA N OHASa.

In a soccer game the winner gains 3 points, while the loser gains 0 points. If the game is a
draw, then the two teams gain 1 point each. A team has played 38 games gaining 80
points. Find the greatest possible number of games that the team lost.

A) 12 B) 11 C)10 D)9 E)8



THALES FOUNDATION, CYRPUS

KANGOUROU INTERNATIONAL COMPETITION, LEVELS 3-4, EMIMNEAO 3-4

KANGOUROU MATHEMATICS

LEVEL 3 -4
" -A” AHMOTIKOY

23 MAPTIOY / MARCH 2013
10:00-11:15

Questions 1-8: 3 points
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| 3 points problems (nmpoAnpara 3 povadwv) |

1. In what figure is the number of black kangaroos bigger than the number of white
kangaroos?

2€ TTOIG €IKOVA 0 apIBUog Twy pavpwyv Kavykoupou eival pyeyaAUTePOG aTTd TOV
apiBud Twv dotrpwv Kavykoupou;

e | [l
| el [ e [ e
= | [ [ =
(A) L (B) L (€ L
- = [T |5
sle-lole|  [slelole
5~ | o
(D) il L (E) Ll

2. Aline writes a correct calculation. Then she covers with a sticker two digits which

4 +5 =104

H AAiva ypd@el éva owaTo uttoAoyiops. MeTd KaAUTITEl pe autokOAANTO dUo Wneia Ta

4 +5 =104

are the same: . Which digit is under the stickers?

oTToia €ival Ta idla
QAUTOKOAANTQ;

. Molo yneoio gival kdTw atd Ta

(A)2 (B) 4 (€)5 (D)7 (E)8

3. How does the row of circles continue?
Mwg ouveyilel n og1Ipd e TOUG KUKAOUG;

000 ;0000 OOO@®
0 @080 OO0
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4. How many triangles can be seen in the picture below?
Méoa Tpiywva @aivovtal oTnv 1o KATW EIKOVQ;

VAVAN
JAVAVAN

(A)9 (B) 10 (C) 11 (D) 13 (E) 12

5. In London 2012 Olympics Games, USA won the most medals: 46 gold, 29 silver
and 29 bronze. China was second with 38 gold, 27 silver and 23 bronze. How many
more medals did the USA win?

>1oug OAupTTiakoUg Aywveg «Aovdivo 2012», ol HIA képdioav Ta TTEPICCOTEPT
METAAAIO: 46 Xpuod, 29 Apyupd kai 29 XdAkiva. H Kiva rfitav deutepn pe 38 Xpuod,
27 Apyupd kai 23 XdAkiva. MNooa mepioodtepa peTdAMa képdicav ol HIMA;

(A) 6 (B) 14 (C) 16 (D) 24 (E) 26

6. Daniel had a package of 36 candies. He divided all the candies equally among all
his friends. What number of friends he could not have for sure?

O AavinA ixe éva TTakéTo amd 36 kapapéAes. Moipaae OAEGS TIG KapauéAeG oTa ioa
METAEU TwV QiAwvV Tou. MNolo apIBud @iAwv dev PTTOPEi va EXEI;

(A) 2 (B)3 (C)4 (D)5 (E)6

7. Vero's mum prepares sandwiches with two slices of bread each. A package of
bread has 24 slices. How many sandwiches can she prepare with two and a half
packages of bread?

H pntépa Tou Bepo, TOINALEI OAVTOUITG UE BUO QETEC WWHIi TO KaBéva. ‘Eva TTakETo
WYwi €xel 24 @éTeg. NOcA 0AVTOUITG JTTOPET VA ETOINACE! JE DUSHIOT TTAKETA WWHI.

(A) 24 (B) 30 (C) 48 (D) 34 (E) 26

8. About the number 325, five boys said:
Ia Tov aplBud 325, mévre ayopla eimav:

Andrei: "This is a 3-digit number", “Autdc givai évag 1piwneIos apiBudg”
Boris: "All digits are distinct", “OAa ra wneia givair d1agopeTIKG”

Vitya: "The sum of the digits is 10", “To GBpoioua Twv wneiwv civar 10”
Grisha: "The digit of units is 5", “To wnegio Twv povadwyv givai 5”

Danya: "All digits are odd numbers” , “OAa ra yneia civar mepirroi apiBuoi”
Who of the boys was wrong? , Tloio a1o Ta ayopia kdvel AdBog;

(A) Andrei (B) Boris (C) Vitya (D) Grisha (E) Danya
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| 4 points problems (mpofAfquara 4 yovadwv) |

9. The rectangular mirror was broken. Which of the following pieces is missing in the
given figure below?

‘Evag opBoywviog KaBpé@Ttng é0TTage. [olo atrd Ta TTI0 KATW KOPUATIO AEITTEl aTTd
TO TTI0 KATW OXEDIO;

(A)k (B)& (@l ) l (E)D

10. When Pinocchio lies, his nose gets 6 cm longer. When he says the truth, his nose
gets 2cm shorter. When his nose was 9 cm long, then he said three lies and two true
sentences. How long was Pinocchio's nose afterwards?

Ortav o Mivokio Aéel wépara, n JOTn Tou peyaAwvel 6 ekatoatd(cm). Otav Aéel Tnv
aAnBegia, n uuTn Tou pIKpaivel 2 cm. Otav n Yitn Tou ATAv 9 cm , YETA €iTTE TPia
wépara kal dUo aAnBivég TTpoTdaclg. Méago peydAn €yive n WOt Tou Mivokio PeTd ammd
auTo;

(A) 14 cm (B) 15cm (C)19cm (D) 23 cm (E) 31 cm

11. In a shop you can buy oranges in boxes of three different sizes: with 5 oranges,
with 9 oranges or with 10 oranges. Pedro wants to buy exactly 48 oranges. What is
the least quantity of boxes he can buy?

>€ éva KATAoTNUA YTTOPEIG Va ayopdAoEl§ TTOPTOKAAIO OE KOUTIA TPIWV SIOPOPETIKWV
peyeBwWV: Twv 5 TTopTOKAAILY, TwV 9 TTopTOKAAIWY A Twv 10 TTopToKaAIWY. O METpog
BéAel va ayopdoel akpifwg 48 tTopTokdAia. [Nolog gival 0 HIKPOTEPOG APIBUOG KOUTIWV
TTOU PTTOPET VO ayopaoel;

(A)8 (B)7 (€6 (D)5 (E)4
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12. m

Ann walks in the direction of the arrow. At every intersection of streets she turns
either to the right or to the left. First she goes to the right, then to the left then again
to the left, then to the right then to the left, and finally again to the left. Where did
Ann stopped?

H Avva Treptmatd oTnv KareuBuvaon Tou BEAOUG. Z€ KABE dlaoTaupwaon dpouwy
oTpifel kaTmoTe OEEIA Kal KATTOTE aploTepd. MNpwTa oTpifel Oe€Id, HeTA aploTEPA Kal
META Eava apioTePd, META OEEIA Kal PETA apIoTEPd, Kal GTO TEAOG TTAAIV apioTepd. ol
oTauaTnoe n Avva;

13. Four Schoolmates Andy, Betty, Cathie and Dannie were born in the same year.
Their birthdays were on February 20th, April 13th, May 12th and May 25th not
necessarily in this order. Betty and Andy were born in the same month. Andy and
Cathie were born in the same day of different months. Who of these schoolmates is
the oldest?

Téooepelig ouppadnTpieg, n Andy, Betty, Cathie kai n Dannie yevvriBnkav Tnv idia
xpovid. Ta yevéBAId Toug ATav oTig 20 PeRpouapiou, 13 AtrpiAiou, 12 Maiou kai 25
Mdiou, 61 kar'avaykn pe auth Tn oeipd. H Betty kai n Andy yevviBnkav Tov idio prva.
H Andy kai n Cathie yevvABnkav Tnv idia p€pa aAAd dia@opeTikoUg Prveg. Moia atrd
QUTEG TIG CUPMOBATPIEG €ival N TTOI0 PEYAAN oTNV NAIKIQ;

(A) Andy (B) Betty (C) Cathie
(D) Dannie (E) impossible to determine (aduvato va Bpebei)

14. 30 children from Adventure Park took part in competitions. If 15 of them took part
in the "moving bridge" contest, and 20 of them went down by “slide”, how many
children from Adventure Park took part in both events?

30 Tmaudia ato 1o Mdpko MepiéTeiag TTApav pEPog ae diaywviopoug. Av ol 15 Tmpav
MEPOG OTO BIAYWVIOHO «KIVOUMEVN YEQUPA» Kal 20 Tpav HEPOS OTO dlaywVIoUS TNG
«TOOUARBpaGy, TToca TTaidid atrd 1o Mdapko MepiréTeiag TMpav PEPOG Kal oToug OUo
dlaywvIOUOoUG;

(A) 25 (B) 15 (C)30 (D) 10 (E) 5
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15. Which of the following pieces fits to the piece in the following picture such that
together they form a rectangle?

Moio a1rd Ta M0 KATW KOUMATIA TAIPIAZEl OTO KOJUMATI TTOU akoAouBei woTe padi va
oxnuari¢ouv £va opBoywvio;

(A) : (B)I (©) 4 (D) ; (E) E

16. The number 35 has the property that it is divisible by the digit in the unit position,
because 35 divided by 5 is 7. The number 38 does not have this property. How many
numbers greater than 21 and smaller than 30 have this property?

O apiBuég 35 £xel Tnv 1IB10TNTA OTI €ival SIAIPETEOG WE TO Wn@io oTn Béon Twv
povadwyv B16TI 6Tav 10 35 diaipebei pe 10 5 pag divel 7. O apiBudg 38 dev £xel auTth
TNV 1016TNTA. 6001 apiBuoi peyaAuTepol Tou 21 kal piIkpodTepol Tou 30 €xouv autr TNV
1016TNTQ;

(A) 2 (B)3 (C)4 (D)5 (E)6

| 5 points problems (mpoAnpara 5 povadwyv) |

17. Joining the mid points of the sides of the triangle on the drawing we obtain a
smaller triangle. We repeat this one more time in the smaller triangle to obtain
smallest triangles. How many triangles of the same size as the smallest triangle fit in
the original drawing?

EvwvovTag Ta géoa TwV TTAEUPWY TOU TPIYWVOU TTOU QAiveTal TTAipVOUUE £va
MIKPOTEPO TPiywvo. To eTavalapBdavoupe autd akoun Pia @opd 0To PIKPOTEPO
TPiYyWVO yIa va SNUIOUPYHOOUHE TO TTIO HIKPOTEPO Tpiywvo. MNdoa o uIKkpoTEPa
Tpiywva Tou 18iou peyEBoug XwpoUlv PEoa OTO apXIKO TPiYwVo;

(A) 5 (B) 8 (C) 10 (D) 16 (E) 32
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18. After the First of January 2013, how many years will pass before the following
event happens for the first time: the product of digits in the notation of the year is
greater than the sum of these digits?

Metd tTnv MpwTtn lavouapiou 2013, Téoa xpodvia Ba TTEPATOUV PEXPI TO EEMG YEYOVOG
OUMPBEI yia TTPWTN QOPA: TO YIVOUEVO TV YN@iwv TNG avaypa@ng TG XPovidg eival
MEYOAUTEPO ATTO TO ABPOICUA TWV YNPiwy TNG;

(A) 87 (B) 98 (C) 101 (D) 102 (E) 103

19. In December Tosha-the-cat has slept exactly 3 weeks. How many minutes did he
stay awake during this month?

To AekéuBpn n ydta Tosha koiundnke akpiBwg 3 BOoUGdeS. Mooa AeTTTd Eueive
guttvia atn didpkela autoU TOU PRvVQ;

(A)(31-7)x3x24x60 (B)(31-7x3)x24x60  (C)(30—7x3)x24x60
(D) (31 = 7) x 24 x 60 (E) (31 =7 x 3) x 24 x 60 x 60

20. Basil has several domino tiles drawn in the figure. He wants to arrange them in a
line according to the following "domino rule": in any two neighbouring tiles, the
neighbouring squares must have the same number of points.

What is the largest number of tiles he can arrange in this way?

O BaoiAng £xel vIoPIvo TTAAKEG OTTWG QaivovTal. O€Ael va TIG TOTTOBETHOEI O€ YPAUMN
ME BdAon Tov €EAG «KAVOVA VIOUIVO»: OE OTTOIECONTIOTE YEITOVIKEG TTAGKEG, TO YEITOVIKA
TETPAYWVA Ba TTPETTEI va £X0UV TOV idI0 apIBUO aTTO KOUKKIDEG.

Molog €ival o peyaAUuTEPOG apPIBUOG TTAAKWY TTOU UTTOPEI va TOTTOBETHOEI UE QUTO TOV
Kavova;

o‘ooo’ [o o‘o o’

(A)3 (B) 4 (€5 (D)6 (E)7

21. Cristi has to sell 10 glass bells that vary in price: 1 euro, 2 euro, 3 euro, 4 euro, 5
euro, 6 euro, 7 euro, 8 euro, 9 euro, 10 euro. In how many ways can Cristi divide all
the glass bells in three packages so that all the packages have the same price?

H KpioTtn pétrel va mwARoel 10 yudAiveg KaUTTAVEG Ol 0TToiEG dlapépouv oTn TiuA: 1
euro, 2 euro, 3 euro, 4 euro, 5 euro, 6 euro, 7 euro, 8 euro, 9 euro, 10 euro. Me
mdéooug TpdTTOUG Ba pTTopouce n KpioTn va xwpioel OAEG TIG YUBAIVEG KOUTTAVEG O€
Tpia TTAKETA WOoTe OAA TA TTAKETA va £XOUV TV idla TIuN;

(A)1 (B)2 (C)3
(D)4 (E) Such a division is not possible (dev eival duvatod va yivel).
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22. Peter bought a carpet 36 dm wide and 60 dm long. The carpet has a pattern of
small squares containing either a sun or a moon, as can be seen in the figure. You
can see that along the width there are 9 squares. When the carpet is fully unrolled,
how many moons can be seen?

O MNétpog ayopace éva xahi 36 dm TTAGTOG kai 60 dm prkog. To XaAi £xel yoTifo pe
MIKPG TETPAYywVa Ta OTTOIa TTEPIEXOUV EITE NAIO EiTE PeEYYAPI, OTTWG PAIVETAI OTO GXMUA.
Mrtropeite va diammoTwoeTe 6Tl 0TO TTAATOG UTTAPXOUV 9 TeETpaywva. OTav TO XaAi
EeTUNIXOEl TTANPWG , TTOCA PeyYdpIa JTTOPOULE va OOUE;

»
>

36 dm

>l
<

A
Y

60 dm
(A) 68 (B) 67 (C) 65 (D) 63 (E) 60

23. Baby Roo wrote down several numbers using only the digits 0 and 1. The sum of
these numbers is 2013. It turned out that it is impossible to get the same sum with a
less amount of such numbers. How many numbers were written by Baby Roo?

O Roo &yypaye didpopoug apiBuoug xpnoigoTrolwvTag pévo Ta yneia 0 kai 1. To
d6poiopa auTwv Twv apiBPwy gival 2013. OTTwg eAvnke eival aduvaTo va TTAPOUPE
10 id10 dBpoioua pe AiydTEPOUg aplBuoug TETolou €idoug. ool apiBuoi ypdeTnKav
atro Tov Roo;

(A) 2 (B)3 (C)4 (D)5 (E) 204

24, Beatrice has a lot of pieces like the grey one in the picture. At least how many of
these grey pieces does she need to make a grey square?

H BapBdpa €xel TTOAG KOPUATIO OTTWG TO YKPICO TTOU @aiveTal GTNV €IKOVA.
TouAdyioTo TTOOQ TETOIO KOPWATIO XPEIAZETAI VIO VA KAVEI Eva YKPICO TETPAYWVO;

(A) 3 (B) 4 (C)6 (D)8 (E) 16
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